R d,
2y Wl @

OMIX-ADA, Inc.

Part # 11548.04

Spartan Overrider

Components
1. Overrider (1) 2. M8 Nut Plate @)


https://www.carid.com/rugged-ridge/

Page 2/2

Rugge
ki N

OMIX-ADA, Inc.

Spartan Overrider

1. Remove M8 Bolts, Flat Washers, and Nutfs from
Spartan Bumper filling overrider mounting holes.

2. Install Spartan Overrider using supplied M8 Nut
Plates and removed M8 Bolts and Flat Washers.

Learn more about replacement bumpers and components we have.


https://www.carid.com/bumpers.html



